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You are advised to spend 40 minutes answering the questions in this booklet.

QUESTION ONE

(a)	 Solve z2 – 8z + 28 = 0. 

	 Express your solutions in their simplest form of 
  
z = a ± b c i , where a, b, c are rational 

numbers.

(b)	 Solve for x:

			   log5(8x) – log5(3) = log5(x + 10)

(c)	 Write 
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π
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as a complex number in the form a + bi.
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(d)	 Find all the solutions of the equation  z4 = mi, where m is a positive real number.
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(e)	 z = – 4 + 5i  is one solution of the equation

			   z3 + Az2 + 17z – 123 = 0

	 Find the value of A.
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(f)	 u and v are two complex numbers, v ≠ 0, such that 
  
u + v

2

= u
2

+ v
2

.

Prove that 
u
v  is purely imaginary.
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QUESTION TWO

(a)	 Write 
 
4 + k( ) 9 − 2 k( ) in the form a + bk + c k, where a, b and c are rational numbers.

(b)	 u and v are complex numbers where u v= =3
3

3
4

Bcis  and Bcis
π π

.

	 Find u ÷ v, expressing your answer in polar form r cis θ.

(c)	 Solve the following equation for x.

	 log4(5 – 2x) = 3
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(d)	 Solve the following equation for x in terms of p.

			   x x+ = +p 3

(e)	 Solve the following equation for x in terms of k.

			 

x
x

x
x1

1
6−

+
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k
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Question 
number

Extra paper for continuation of answers if required.
Clearly number the question.
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